E tf,g% Egﬂ !‘g ACS2 series

o
28 MY (YR05 £2)

ACS?2 series

BAI7|Z2
E2|
—/ O
o AA HZE LjZ it 2M0| 7|=QlL|Ct I .
I — oS/
o RoR I BE LIAFYLICH —
svepossexgaugizsl 11 | —JV\]
WA = ASH T
o LIAt X Z2Z R2| E4H40| 20|§HHCt g2e/gzs /s

A5
acs2 - (v J()(32) - s(ooo) () () L)L) U
@ @) @ @ ® ® @ ® ®
@ A2z ©®HE2R2
ACS2 25 HRE 4F Halg 1= WE | EaFoR=
ACS2W 25 Q2C 43 MG CR]E EECERE
ACS2A 25 HZE 2 d2lH (0fofFH) J Lto|2 ErZa 60C
ACS2AW 55 Y2C o9 Hald (0017 H) K Hezmd 224 110T
_ @ =+
@ 578N S EHES HUUE @E) 1
N FERYEESE | 1A ER0E
L 2R 24 (5kgf/crio|5f) Y 244 Léi‘&'i
G A7 (25kgf/cio| 5t -
B REAQ2 ZR
. _ SR =9 ERE =g
@ F{FA[R] HA e - -
: . = T C72 D-C72K H7A1 D-H7ATK
=g =cfb|~ LAY C73 D-C73K H7A2 D-H7A2K
LB FEH TR | =2ESEU=™ 76 D-C76K H7B D-H7BK
FA | SCZEMXY | TH | HcEERiUed C80 D-C80K
FB | GIC=ZAXY | BC | HAZE (BEI) 5 A902) L3O HEYLIC,
CA 140 S| AY BF BAANE SHAY s AMIHUEE [10]-10, 19 PAGES 2t1 SHUAIL.
CB 24 SH| A BT | HEAZE ELI2Y
Q@ RLEALRZ| &%
@ EBLZ FI15 274
=4S S 171
THEA 20 25 32 40 N N7H (N:3,4,5..)
2 20 @25 @32 240 x A912| 22E0) H8YU,
® Mgy © S4ArE
T : FI1= 2 gorst
ssyE 2E 2/ TS CorSi A ARIC (H2ES)
@20 10, 15, 20, 25, 30, 35, 1000 ™w CHEr Y A2 (PRES)
025 40, 45, 50, 60, 75, 1500 D ez
100, 125, 150, 175, AS) 25mmLf ZRIA| 7 3y 2
200, 250, 300, 350, BSJ 50mmuy HZIA| 7P Y ZHY
@32 400, 450, 500, 550, 2001 & Gog Ame
25, 50 7?30300 125 = E= LA
0. 175 200 250 ZHE 5 Al
340 150, 175, 200, 250, T @) ZHE S Al
300, 350, 400, 450, S N
500 600 2715 Ssdzd
’ Ct=
% BE WY 0|9lo] 7 BYS FSMNELT ° ;:;Ef:
% FRAHZAANLE 2EMT A HE2 [1]-140PAGEE 21510 FHAIL. T ===

28 www.kccpr.com



KCC] Kcc Co., Ltd.

A O A A HZ(2) ACS2 series

o

23 ARIE (2R0]5 £8)

o)
R
oo
EQ = - AR UH
2z @ac 25 gzc YRR
AERA| 27| somEe
AP
B3 14.7kgf/cri (1.5MPa)
2 ; 2120 L3 9.9kgf/cri(1.0MPa)
T AR Ok mTE LS
Z.|_LA|'O =it 9,9kgf/cm (1 .OMPa) Z‘I-ﬁ—?:,* Gsci: 2445kgf/crﬁ(2A5MPa) KGUA
= , , Z21:1.8kgf/cn (0.18MPa) )
20t2q p
2| AR Q2 0.5kgf/cii (0.05MPa) 0.8kgf/cii (0.08MPa) B4l 2 3kaf/at (023MPa) 1.8kgf/cri (0.18MPa) o
-10T ~ 70C(LEALR| gig
20| al 29 _<2 =
THEE RAERAZE -10C ~ 600(2EAS|2] 23
2{t] FM4: 50~750mm/s . .
=3 ' A ~ A ~
sl 2ib 4, oo M4 2{H FM 2ib 4
ACS2
LIAFZ 2} KS 25
#HZo| 58t ~250%T: *18 251~500°": *}4 ACS3
ACS4
| & = O] JAI
Z2AAY¥A A BET
ACS5
2|5 22| SHAl =3 285t 262 SES | SHA 4k F22 4 HE= == HAA HAZ EIAZ
v A s =¥ 2Ed | sAny | EANY UMY | Baiay Sebiiy elusy ezUSy BRE | BdXy =dUcy
Az LA @(17H) @(27H)| @(17H) | @(17H) - - - o7 'e(17l) | @17 | @(17H)  @(17h) ACR
OFEFz REMOUE | e ° ° ° ° ° ° ° ° ° ° °
seuag® | - | - - - - - “e - - - - - ACM
MH2R0E | @ ° ° ° ° ° ° ° ° ° ° °
M| FDRAHERAE| @ ) ) ) ® ) ) ) ) ® ) ® ACL
HRoR ° ° ° ° ° ° ° ° ° ° ° °
x F1) 2EZ EYLRY, o|E2 EL 20z EUR HET 25 £|0f US LT ACX
s 72) 240 2l A Y 24 43 OIS0 B, A¥0| S E3tELICH
x 33) Seu|A Hojle AYRjo| AL} KLC
x YREO|= 2EMENET} 274 ZFELICH
KLCS
= AF, ADF
a3 Iy .
2 E2 X =2+ =4
o AFM,
i, - FEUWZE(mm = ADFM
2922 2 2|h ZR24Y =1F LHe! (24 F& 234
A s 020 ?25 [ 032 40 1) @l 72 224
ZYFRE 12(274) LB 20 LB 25/32 LB 40(H4d) DE ) M2HE 17§ ANG
Z3H3| 174 FA/FB 20 FA/FB 25/32 FA/FB 40(2&) Zaiz| 171, Mx[HE 17§
(NECEIES 174 CA20 CA 25/32 CA 40(948) 14F Z2H| A 174
~ 24 22fH|A 17,
24 2 H|A 174 CB 20 CB 25/32 CB 40(¥¥) ERTEN ]‘IE_| 1|7|'||, i\_l:l‘illlgbl 274
ELe 174 TC 20 TC 25/32 TC40(¥E) E{L2 174, ER{YR HE 174

paagmm) 20 25, 032 940
14 43200 120 125/32 140
2 320E v20 v25/32 Y40

% ACS2 408 MHa7E SYAIZIZ ACM 402 SLFLICE

www.kccpr.com - 29



E Lﬁ%% Egg— !‘g ACS2 series

A% A2 (2205 £2)

SEH
©91: ko
B& I [ B of2C
FEHE (mm) 020 | 025 dijccgz 040 | 320 | 025 og@?z 040
72y 0154 0238 0288 0626 0.176 0283 0329 0.727
ney 0228 0316 0366 0778 0250 | 0361 0407 | 0.879
R 0198 0290 0340 0734 0220 0335 0381 0835
Sajb|A YN 0134 0208 0248 | 0566 - - - -
4 14 Safb|AE 0204 0290 0340 | 0.754 - - - -
§ 24F SH|AY (T2 | 0.214 | 0.298 | 0.348 | 0.788 - - - -
° Ezley 0194 0308 0348 0726 0216 0353 0389 0827
BAZ (BZY) 0144 0218 | 0268 0596 | - - - -
BAZ BAAY 0184 0268 | 0318 0706 - - - -
BAZ E2(L2% | 0184 | 0.288 | 0.328 | 0.696 | - - - -
SOMHEY 2t 2 0.064 0080 0084 0.140 0096 | 0.120  0.137 | 0.205
. PEEELIS] 0.056 | 0.056 | 0.056 | 0.166 | - - - -
S 2uud3z0lE (B2 | 0074 | 0072 | 0072 0220 | - - - -
™ EISE 0.002 | 0.008 | 0.008 | 0.016 | - - - -
ALk

7|EE% 0.366(FE3P32) / S7H5E: 0.084/50 / A2IE{&H™: 100mm
0.366 + 0.084/50 X 100 = 0.534kg

2. 28 YRE
0fl) ACS2W-N-LB32-5100

7|EE 0.407(FEYP32) / E7H53: 0.137/50 / A2I3H™: 100mm
0.407 +0.137/50 X 100 = 0.681kg

- 30 www.kccpr.com



E Lﬁ%% Egg g-? ACS2 series

A3 M2IH (220|5 £8)

oS 2 -

+RE
240242
HEY(R=7Y) ACS2-NB
AJP
KGUA
ACP
ACD
ACS2
ACS3
HAZEH ACS2-N BC
ACS4
ACS5
m 1l I
% \f ACR
ACM
ACL
;(-I‘Igrot:ll-% ACSZ'L ACX
KLC
KLCS
AF, ADF
AFM,
ADFM
ANG
k-2 sz PET Clinl we sz 2 SE4Z
1 2c Etazt A2 32032 220 025 ?32 240
~ 11 2o NBR | DRP10 | DRP12 | DRP12 | DRP16
2 Z2CTHt U205 g2 | @M opeCto|
oaos El=f=F
z " o=0|s BT | A e Cto|d 2388 | 12 NBR S6 S8 S8 S10
oo 2]
7 T g=0)s 513 A= 13 | 23mZ NBR | OPA20 | OPA25 = OPA32 | OPA40
O O}5d O OoF
5 nAs o=0s g2 : HOoHd | 14 | QYWY NBR | HSD20 | HSD25 & HSD32 | HSD40
6 g BB L2015 &= -
7 o 7| -
8 OIadE NBR -
9 ] et -
10 2Al SPCC -

www.kccpr.com - 31



KCC Co., Ltd.

ACS2 series

A O A AH S (F)
23 M0 (YR0|5 F2)
AR+ E-HFEH (B)
VB RcPD RCCPD (¥

A\TH X

&

VA A Hol W W
eE T L +STROKE H
TL+STROKE
T2l :mm
S8 QELIAIZO| A B @D OF H KK L M PA | Rc(PT) | T L
@20 15.5 18 5.0 10 28 13 M8X1.25 62 M20X1.5 1/8 41 116
@25 19.5 22 5.5 12 34 13 | mM10X1.25 | 62 M26X1.5 1/8 45 120
@32 19.5 22 55 12 38 13 | M10X1.25 | 64 M26X1.5 178 45 122
@40 21.0 24 75 16 50 16 | M14X1.50 | 88 M32X2.0 11 1/4 50 154
SEUZ VA VB W
?20 24 12 15
®25 30 12 15
?32 32 12 15
040 46 18 21
=15 A IT =
QAR+ E-EEY (LB)
I VB VB
2-M le—= Rc(PT) Rc(PT> on
P /
KK \ H %'/ N
: \ fatArzol W T 1T
2-0LC @ é ‘%’*’* N Ny T T EX
\/ - A 4-9LD
— S | S
a L *5
A
e Y X L+STROKE X Yy
Lz LS+STROKE
TL+STROKE
Ctel:mm
S5 FELIAIZO A B @D H KK L @LC | @LD LH LS LT LX Lz
@20 15.5 18 5.0 10 13 M8X1.25 62 4 6.8 25 102 3 40 55
@25 19.5 22 5.5 12 13 | M10X1.25 | 62 4 6.8 28 102 3 40 55
@32 19.5 22 5.5 12 13 | M10X1.25 @ 64 4 6.8 28 104 3 40 55
@40 21.0 24 75 16 16 | M14X1.50 | 88 4 7.0 30 134 3 55 75
EBH M PA | RcPT) | T L VA VB w X %
@20 M20X1.5 1/8 41 118 | 24 12 15 20 8
@25 M26X1.5 1/8 45 118 | 30 12 15 20 8
@32 M26X1.5 1/8 45 120 | 32 12 15 20 8
@40 M32X2.0 11 1/4 50 158 | 46 18 21 23 12
32 www.kccpr.com



)

e

KCC Co., Ltd.

A O A ALE S (

ACS?2 series

23 Al2IH (

oS 2

or=

20|15 E1)

4-8FD
=YB Ry RcPTH-YEB 2-M
KK "EﬁL/ \JPA
Ty T
emlig———— -]
FELARZO] A
A Bl 4
H |- W W
T L+STROKE H
TL+STROKE
(®40) (B20~032)
CHelimm
FEWE FELAIZO] A B @D (0] @FD FT FX FY Fz H KK L M
220 15.5 18 5.0 10 28 7 3.2 60 - 75 13 M8X1.25 62 M20X1.5
@25 19.5 22 55 12 34 7 4.5 60 - 75 13 M10X1.25 62 M26X1.5
?32 19.5 22 55 12 38 7 4.5 60 - 75 13 M10X1.25 64 M26X1.5
@40 21.0 24 7.5 16 50 7 4.5 66 36 82 16 M14X1.50 88 M32X2.0
S5LHE PA Rc(PT) T TL VA VB W Y
©20 1/8 41 116 24 12 15 40
@25 1/8 45 120 30 12 15 42
@32 1/8 45 122 32 12 15 42
240 11 1/4 50 154 46 18 21 52
Y| -3 ES SUAIH (FB)
4-¢FD
2-M Egﬂi RcPT) RCPT) Jg%— P
KK *al/
\\ FIm
S # +*4~4*< I — e — 3 iRa R
FELALO|
B h v w | [T
T L+STROKE o
TL+STROKE
(B40) (B20~932>
Chelimm
FEUWE | FELARZOL | A B @D @E | @FD FT FX FY FZ H KK L M
?20 15.5 18 5.0 10 28 7 3.2 60 - 75 13 M8X1.25 62 M20X1.5
@25 195 22 55 12 34 7 45 60 - 75 13 M10X1.25 62 M26X1.5
?32 19.5 22 55 12 38 7 4.5 60 - 75 13 M10X1.25 64 M26X1.5
@40 21.0 24 7.5 16 50 7 4.5 66 36 82 16 M14X1.50 88 M32X2.0
S5U44E PA Rc(PT) T TL VA VB W Y
?20 1/8 41 116 24 12 15 40
@25 1/8 45 120 30 12 15 42
@32 1/8 45 122 32 12 15 42
@40 " 1/4 50 154 46 18 21 52

www.kccpr.com

KGUA

ACP

ACD

ACS2

ACS3

ACS4

ACS5

ACR

ACM

ACL

ACX

KLC

KLCS

AF, ADF

AFM,
ADFM

ANG



E Lf%% Egg— !‘g ACS2 series

48 MY (Y20)5 §2)

Q2|14 22B|AY (CA)

‘MR Rc<(PT> Rc(PT)‘MB*
2-m PA 1368
\ #CD
KK
BRI E 1T
/ A [
R N +
SELIAIRZOl
A B H W W u a.
T L+STROKE CR cX:
Z+STROKE R VA
TL+STROKE 2E
CHlimm
EHHE | SELIARZO| A B @CD CR X @D (0] H KK L M PA
@20 15.5 18 5.0 9 30 10 10 28 13 M8X1.25 62 M20X1.5
@25 19.5 22 5.5 9 30 10 12 34 13 M10X1.25 62 M26X1.5
@32 19.5 22 5.5 9 30 10 12 38 13 M10X1.25 64 M26X1.5
@40 21.0 24 7.5 10 39 15 16 50 16 M14X1.50 88 M32X2.0 11
EQL R |Rc(PT)| T TL U VA VB W Z
@20 9 1/8 41 142 14 24 12 15 133
@25 9 1/8 45 146 14 30 12 15 137
?32 9 1/8 45 148 14 32 12 15 139
@40 11 1/4 50 188 18 46 18 21 177
SHSIAC. = =
QYPR|+E-24F S2H|IAH (CB)
‘MB* Rc(PT> Rc<PT> VB
2-M 18:38
PCD
KK
B [
/D | ]
9 / / % \
| \ | -/
SSLIAROI U N
N L1
A B H W W U 192
T L+STROKE CR ICX_|
Z+STROKE CZ
R va
TL+STROKE oF
CHelimm
SEUZAE | RELIKZO] A B @CD CR X cz @D PE H KK L M
@20 15.5 18 5.0 9 30 10 19 10 28 13 M8X1.25 62 M20X1.5
@25 19.5 22 5.5 9 30 10 19 12 34 13 M10X1.25 62 M26X1.5
?32 19.5 22 5.5 9 30 10 19 12 38 13 M10X1.25 64 M26X1.5
@40 21.0 24 75 10 39 15 30 16 50 16 M14X1.50 88 M32X2.0
EQL PA R | Rec(PT) T TL U VA VB W z
@20 9 1/8 41 142 14 24 12 15 133
@25 9 1/8 45 146 14 30 12 15 137
@32 9 1/8 45 148 14 32 12 15 139
@40 11 11 1/4 50 188 18 46 18 21 177

34 www.kccpr.com



E L<|(o:|§| Egg (L;_(? ACS2 series

A8 ARIE (LR0)5 £2)

o 2

22| -2 H|L LAY (CD)

o VB Rc<PT> Rc<PT> VB
e PA e I
KK
_\ BR ] AP
— TN e
= | \ KGUA
s \ /
RaEUARZ Ol I/ éé ACP
e W e
T L+STROKE U va ACD
Z+STROKE R oE
TL+STROKE
ACS2
THel:mm
souz | saukzo | A B | oD | <X | @b | ©F | H KK L M PA | R ACS3
?20 155 18 5.0 8 12 10 28 13 M8X1.25 62 M20X1.5 8 9
@25 19.5 22 55 8 12 12 34 13 M10X1.25 62 M26X1.5 8 9 ACSA
?32 19.5 22 55 10 20 12 38 13 M10X1.25 64 M26X1.5 8 12
@40 21.0 24 7.5 10 20 16 50 16 M14X1.50 88 M32X2.0 11 12 ACSS
E94Z | RePT) | T TL U VA VB w z ACR
©20 1/8 41 124 12 24 12 15 115
025 1/8 45 128 12 30 12 15 119 ACM
@32 1/8 45 136 15 32 12 15 124
@40 1/4 50 165 15 46 18 21 153 ACL
ACX
Y| eE-2ES E2L2Y (TR)
KLC
z ME, RcePT> RcCPTS =L 2-M KLCS
. __PA PA /> -
ol AE AF, ADF
E 1 ﬁﬁ T— r 9 an AFM,
NS D
SELIAIRO ANG
VA A _[B _‘ﬂL W W -
TX T L+STROKE H
Tz TL+STROKE
ctel:mm
E5A [ELIAIZO] A B @D (9]3 H KK L M PA Rc(PT) T @TD
©20 15.5 18 5.0 10 28 13 M8X1.25 62 M20X1.5 8 1/8 41
025 19.5 22 55 12 34 13 M10X1.25 62 M26X1.5 8 1/8 45
?32 19.5 22 55 12 38 13 M10X1.25 64 M26X1.5 8 1/8 45
@40 21.0 24 7.5 16 50 16 M14X1.50 88 M32X2.0 11 1/4 50 10
SBUd TL T > QTY TZ VA VB W Z
?20 116 10 32 32 52 24 12 15 36
@25 122 10 40 40 60 30 12 15 40
@32 124 10 40 40 60 32 12 15 40
@40 154 11 53 53 77 46 18 21 445

www.kccpr.com - 35



KECS

jrn §

s (F

KCC Co., Ltd.

A O ALAL Y

)

ACS2 series

A3

o

A
=2

EI (OI-E

=T

Ole &2)

=] 5| A = = =
Y24 E-5EE EILR2FY (TH)
VB
- RcCPT> RecPT> =Y B
2-M PA < < PA
KK
\ T T 1 BR
Wiz e
A >
[ -
g 8 =
/N I Kj I
SSLIAO0|
L N W [T VA
T L+STROKE X
Z+STROKE 1z
TL+STROKE
T2l :mm
EdQUA SELIAFZO| A B oD [0]3 H KK L M PA Rc(PT) T @TD
220 15.5 18 5.0 10 28 13 M8X1.25 62 M20X1.5 1/8 41
@25 19.5 22 5.5 12 34 13 M10X1.25 62 M26X1.5 1/8 45
?32 19.5 22 55 12 38 13 M10X1.25 64 M26X1.5 1/8 45
@40 21.0 24 7.5 16 50 16 M14X1.50 88 M32X2.0 11 1/4 50 10
E5LlE TL T TX oTY TZ VA VB W Z
@20 116 10 32 32 52 24 12 15 108
@25 122 10 40 40 60 30 12 15 112
?32 124 10 40 40 60 32 12 15 114
@40 154 11 53 53 77 46 18 21 143.5
=15 A =
QAR L E-HATHESF (BQ)
- an
el N ] A 1 \
o ‘\/l
TL+STROKE
5| 7HHIe| LIAMRE-EE A A5I0] MA|Z0|E 24T EIYez B2t37t0| 2AE HHsIAEL T
cH2l:mm CH2{mm
Compact (RAZES) A 2|4 H|w (Yekdatel B )
S84 TL ?20 @25 @32 @40
©20 103 -13 -13 -13 -16
025 107 x RaAl BEYE(BC), 2EZ S2R™H(BF), 2EEZ EHL2YE(BT)
030 109 s JEk BII5HA| 9 A4 ACS2 BEeiat SUBLIc
@40 138

www.kccpr.com



E K|S:|§| f,:g (LE(? ACS2 series

23 M2IE (22015 £2)

o

(FEE =31 24 42201E
A A Y20, Y25/32 A2 WA Y40 A 2
Va
/1
) Wﬁ 7, AP
KK _@ND
~F oND F N N\ KGUA
KK
~ | . :
¥ . ) 2 ¢ _-|'\ 11 2 ¢ : 3 2 ACP
D
v V|
. L Y ACD
L -
El:mm El:mm ACS2
2 REUWZ | oE | F | L KK |oND"| NX | R | V EH EHUE eE | F | L KK |gND"| NX | NZ| R | V I
120 | @20 |20 | 16 | 36 |M8X1.25| 9 *%%| 9 51 10 14 Y20 | @20 |18 16 36 M8X1.25 9 *%% 9 132/ 18 12|14 ACS3
125/32 | ¢25,32| 20 | 18 | 38 |M10X1.25| 9 %% 9 31| 10 14 Y25/32|@25,32| 18 | 18 | 38 M10X125 9 *%% /9 132118 10 14 -
140 | @40 | 24 | 22 | 55 |M14Xx150[12 *%%7|16 §1/15.5 20 Y40 | @40 |24 30 55 | M14x150 12 *%7 |16 13338 | 13| 25 ACS4
ZeMe e 2218 UE Ao
A A Aa: ea ACR
KK:
« ACM
D) Sk
H ACX
T H
KLC
h2l:mm EH2l:mm -
4 | S2u13 C oD H KK T 4 | S2u13 C oD H KK T KLCS
RN-02 | @20 15.0 12.5 13 M8X1.25 5 SN-02 | @20 34.6 29 30 M20X1.5 8 e
RN-03 | ©25,32 | 19.6 16.5 17 M10X1.25 6 SN-03 | 825,32 | 37 315 32 M26X1.5 8 AF, ADF
RN-04 | @40 254 | 210 22 M14X1.50 8 SN-04 | @40 47.3 40.5 41 M32X2.0 10 e
AFM,
ADFM
IR = I
ANG

T/
|| 8
Mt L t M
N
Ck2l:mm
24 |SEUE| oD® od LI N|m t [fin

CPS02 | @20 | 93952186 Jos 192] 25 (175115 *914|  Y+CBE
CPS03 | 92532 | 93 0076 86 o6/192| 25 11.75/1.15 M| v+CBR
PS04 | @40 |10 3%219.6 J09/302(36.2/11.85 115 "9 (CBE

CPM04| @40 (12 33821115 014]382/44.2/1.85/1.15 Q1

Y
(ACM 400 28)

www.kccpr.com - 37



E tf,g% Egﬂ !‘g ACS2 series

o

3 A orzZnly E
—/t?é EIEI_“:_I (EFTEll_EJ_ ‘I‘FE)
=15 A _ o =
QAR HE=L R (J, K)
R L
g -t — e —f—
@)
] S
8 S F
t+S
TL+ S +STROKE
Ctl:mm
g2 F ?G s t TL 54 Al J K
@20 16 39 0.384%+3 56 131 I L2 EIEE | HeZd 224
@25 16 39 0.33H+3 60 135 Lijd 60T 110
?32 16 39 0.33+3 60 137
@40 18 40 0.253%+3 67 171
x 7|Ef BI|5HA] %2 2|4E ACS2 BESH S UL C
% M2 20| SUSEHES 224510 218}
Az ACC - (0] [
AR eE-E5 LZ2E (W)
o2-M VB rRccPT Ro(PTY B
P PA
KK KK
TTT (I
|
yan) a a
\\.i:‘// A% Sy
FELIAZ O] | saUAZol
B A
Zé a  |B| LH | w W _{ H
T L+STROKE T+STROKE
TL+2 STROKE
el:imm
EHUE | QELIAIZO| A B @D oF H KK L M PA | Rc(PT) T TL
@20 15.5 18 5.0 10 28 13 M8X1.25 62 M20X1.5 8 1/8 41 144
@25 19.5 22 5.5 12 34 13 M10X1.25 62 M26X1.5 8 1/8 45 152
32 19.5 22 5.5 12 38 13 M10X1.25 64 M26X1.5 8 1/8 45 154
@40 21.0 24 7.5 16 50 16 M14X1.50 88 M32X2.0 11 1/4 50 188
e VA VB W
@20 24 12 15
@25 30 12 15
®32 32 12 15
@40 46 18 21

- 38 www.kccpr.com



E 51<|C|C| (f 04 <L ;‘?- ACS2 series

23 ARl (2R0]5 £1)

o

o
2he) MaiE 22
Z

=2 =
FEA BIIY: AYY + BEHY
o) 150+200 (A= =150, BZ =50)

\ \ | \ KGUA

A
]
R

o o o o
® ZEo| 3¢S =5t ®, OY¥ LEO| 3¢S szt OZEO 3¢S S5t BEE 3¢S S=otH ACD
A, BEE =gyt HZIA| 281e] 20| Aoy L|Ct Z Lot BHYO| MRIFLICE ZERF AHO| MRIFLICE —
ACS2
=5 A _ = = Al
IR E-HEEY Tl A2 (TS)
ACS3
B STROKE 1 A STROKE Rl :mm ACS4
FEUE | TA B TL
@20 48 62 164 ACS5
@25 48 62 168
@32 50 64 172 ACR
@40 67 88 221
TB+STROKE B TA+STROKE A S OlEF (317 92 A BEA ACM
TL+STROKECA+B) | I BT,
ACL
5 — = i ACX
2 E S T AlRIE] (TwW)
= = = |5 = = KLC
IE52 2, 2719 H2EE LYASHA|AH dald HHES L5 20 3TAZ A ojgds UGS
Z2A| BI|8: AR + BUY —
o)) 150+200 (A= =150, BZ =200) KLCS

P?P@l B @® A B@DQ ®Cc® A AF, ADF

| 1] | | ' | ' 14 l I
i 7# \ \ \ | \ AFM,
- | - - \ - - \ \ -~ = \ ! - ADFM
B A ANG
®, ® LE0| 52 335tH, ©, OEE 522 3=5tH, ®, OREO ¢S 5aotH, ®, OEE S22 5=5tH,
A, BHFE S A, BHEO| SIS Bay0] 2EBLIC Ast0| HE T
HaIAC--O C & C}s Al
QAU +E-Y=EY CIEHREY Al (TW)
STROKE A STROKE B

EH2limm
= | | e e gouz] 1| X
==&Av - —— e —F @20 | 232 26
I_A VA\AY @25 | 240 @ 26

@32 244 26
240 310 34

X

TL +STROKECA+B)

www.kccpr.com - 39



KCC Co., Ltd.

AOAAES (F)

ACS2 series

eE A2l (TD)
270] MRICIS HUR HAF MRACIZ &
C A

A3

Al2|

o 2

o (2205 E8)

=T

©, OZEO| 3YUS ST, , OZE0| 3US 3354V,
S2U2tSA| 2812 £30| FoFLICH 21 Z2HE A| 2819 £240| AO{RILICH,
SHIIA
o228 22H (TD)
TROKE STROKF
== =t =
o
— 1
] o) _ —
=TIy W
TB+STROKE TA+STROKE
TL+2 STROKE
cHel:imm
FEUE TA B TL
220 48 62 164
025 48 62 168
@32 50 64 172
@0 2 el 221 w7t BYIGHA) 94 Al4E BEYD SYFLICL
A 7ty =28 A2l (AS), BS))
H2E HUA BYE M| HYOM 0~50mm7tA| FES0] B 2YV|FHE F2f5t0] MA|Q] Y S 2YFLICH
B (A
|
ASJ 1 25mm 24
BSJ 1 50mm Z&
AE{HQ XS): Xmm 23 (X= AHg2t 21E)
=15 A = =
QU E-HRIA| 7HHMY 2H A2 (AS), BS))
\ , o
2 KK
R L I /f
=
=
Y
| | —
MK
STROKE ML+ Zme
MH+STROKE+Z &2

TL+2 STROKE+ZEZ

chel:mm
FEUE KK MA MK oMI MH ML TL
220 M8X1.25 12 8 20 47 20 150
225 M10X1.25 17 10 25 49 22 156
@32 M10X1.25 17 10 25 49 22 158
@40 M14X1.50 | 22 12 30 60 26 198

www.kccpr.com



E K&% f,:g (LE(? ACS2 series

23 ARIE (2R0]5 £1)

o

— —_ -
a2t
s [y
_ Rc(PT> RcCPT> AJP
2N PA_/ PA
KK E—
BB LBR KGUA
g \ z 4@; ACP
4% ) x S
2510l
[TEAol ACD
A Bl LH | w W YA
T L+STROKE H ot ACS2
TL+STROKE
ACS3
tE 221y ACs4
Py VB_ Rc(PT) Re(PT) VB
A PA
KK % '/[ ; ACS5
\ i -
ACR
[fi\\ o I _1
\\\TrJJ S l% —
| KRELIAIZO| ACM
Vé A 8 H_|_w W ACL
¢ T+STROKE L+STROKE H
TL+2 STROKE
ACX
KLC
EH2l:mm
EHZA SELIAIZO| A B @D E H KK PA | Rc(PT) | T VA VB W (LGS
020 15.5 18 5 10 28 13 M8x1.25 8 1/8 41 24 12 15
025 19.5 22 5.5 12 34 13 M10x1.25 8 1/8 45 30 12 15
032 19.5 22 5.5 12 38 13 M10x1.25 8 1/8 45 34.5 12 15 AF, ADF
040 21 24 7 16 50 16 M14x1.5 11 1/4 50 425 18 21.5
RPN-LEl 1~50 51~100 101~150 151~200 201~250 AFM,
SEUE L TL L TL L TL L TL L T ADFM
020 87 141 | 112 | 166 | 137 | 191 - - - -
?25 87 145 112 170 137 195 - - - - ANG
232 89 147 | 114 | 172 | 139 | 197 | 164 | 222 - -
040 113 | 179 | 138 | 204 | 163 | 229 | 188 | 254 | 213 | 279
A
Lige d2l (SV) EE AHQIZ A (SS)
150C 7HR| 20| FRHNM AL 7tsotH HEE THAE 29| ETH0| MRIA| 20 24 SO2 Qe s U 2A9]
2ot Azl Lot F2471 A= 0l AtERLICE
o o
e AH
ER 2288 ER 2288
ARG £8U1Y @20, 325, @32, P40 ARG £8U1Y ?20, 25, 32, P40
zoles -20~150T 2e 2 AE|012|AZ (SUS 303)
o 22 EAT2(VITON)

www.kccpr.com - 41



